Cnosidps

A. CymecTeiTensubie

aBTé0yC

ounér (B/Ha + acc.)
BEJIOCUIIE],

BoKk34n (ma)
néupru (only pl)*
nIepéBHA

bi (o919

nxémnapl

jopoéra

kaHiKyanl (plural only)
xdrep (pl. karepd)
KUHOTEATp
xonéiikal
KopabJip’

néaxa

MaIHa

meTpd (indecl.)
Mépe sea
MOTOUMKI

43epo

OCTaHOBKA
éuepens (f.)

6

Tpancnopt
Transportation

bus

ticket

bicycle

train station

money

country, village

rain

dollar

road, way

vacation (from school)
motorboat

movie theater

kopeck (100 kopecks = 1 ruble)
ship

small boat

car

subway, metro

motorcycle
lake
bus stop
line (queue)
227
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noréaa
néesn
igyriie)
py6ap” 1
pHIHOK (Ha)
CaMoJET
CHer
CTaHnUA
TpaMBaii
TpoL1éi6yc
1end cost, price
uent! cent

. I'naréan
Oérarp-Gemdrs/mo0emars (aj - irr.)?
BONNTH-BECTV/mIOBECTH (i - t-d)3/4
BO3WTH-BE3TH/MOBE3TH (i - t-d)3/4
é31uTh-6XxaTh/M0éXaTh (i - irr.)2
TeTaTh-1eTéTh/IoNeTéTh (aj- e)3
HOCHTB-HeCTH/monecTi (i- s-z)3
NI4BaTh-ITBITH/IOMIBITE (8] - v)4
NOKYATH/KYNATE (aj/1)
nocemars/moceTurs (aj/i)
créurs (1)° (impf. only)
XOAUTh-UATA/TOATA (i - irr.)2/3/4

B. Hapéausa

JIOMOH

KyJad to where, whence
OTKYIa

nemxom

CKONBKO (+ gen.)

ciofd to here, hither
Tynd to there, thither

I'. Mpennéru

3a (+ acc.)

weather

train

bird

ruble

market

plane

snow

subway station
tram
trolleybus

to run

to lead; to drive (a vehicle)

to transport; to drive (a person)
to go, come (by vehicle); to drive (intrans.)
to fly

to carry

to swim; to go by boat

to buy

to visit (usually a thing or place)
to cost

to go, come

homeward

from where
on foot
how much, how many

for, in exchange for (i.e. to buy for 200
rubles); for (in favor of; the opposite of
“against”)



Chapter Six e 229

J. dpyrie
A mourtéd/momén! I'm going (I'm out of here)!
[Mom! (IToéxanu!) Let’s go!

E. Mosxpasnéuna (Holiday Greetings and Special Occasions)

[Tosnpasinsdio /Ilosnpasidem Te6d/8ac (c uem)
Congratulations on...(I/We congratulate

you with...)
C nuém pomnénus! Happy Birthday!
C npdsmuuxom! Happy Holiday!
C pactyndiomum npasgauxom! Happy Holiday (that’s upcoming)!
C macryniBmuM npdsgHukom! Happy Holiday (that’s just passed)!
C Héseim rémom! Happy New Year!
C Pomnecrsém (Xpucréssim)! Merry Christmas!
G Xényxoit! Happy Hanukkah!
Hen mopG3 Grandfather Frost (“ Santa Claus”)
énxa fir (Christmas) tree
MeHOpa, CeMUCBEUHUK menorah
(*Hendio/iHendem Bam...) (+ gen.) We wish for you...
CuacrniBoro myTi! Bon Voyage!
Cnoxéitroit HOuu! Good night!
Bcerd xopdéurero, né6poro! All the best!

Hocnésuner u Iorosépru (Proverbs and Sayings)

Kynd wurénka, Tynd u HATKa. Monkey see, monkey do. (Lit: Whither the
needle, thither the thread.)
Kynd Besyr, Tynd u ényr. Where you're carried, that’s where you go.

Raith

\ cary
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Notes on Vocabulary

1. Remember the rules you've learned about counting; here are the forms you'll
need for counting money. Genitive plural forms are in boldface. Note that with
inflation, you will be counting rubles in the genitive plural!

OIUH pyOan, nBa pybnd, mare pyOnéi

OIH4 KOmMEéliKa, IBe KOMEIKM, MAThIECAT Koméex
OIiH némmap, aBa ndanapa, mEcATh A6nnapoB
ONUH LEHT, JBa LEHTa, JEeBAHOCTO IE€BATHL LEHTOB
néubru - Créapko némer?

2. The conjugation of irregular new verbs:
OewaTs - Oery, Oemnmb, OexnT, OewiiM, Oewxiite, 6erys
Oewdn, Oewdna, OGewdno, Gewdnu
éxath - ény, émemb, éner, éneMm, éiere, émyT;
éxan, €xajna, €xano, €Xalu.
UITA - ULy, Upéws, ugér, uneéM, ugére, UIyT;
mén, nja, o, IJIx

3. Note the consonant mutation in the 1st singular only of the following verbs:

BOIUTH BOMY, BOIUIIb

BOSHTH BOWKY, BOIMIID } Note th.at these forrps are identical
, , ) in the first person singular.

€31UTh €31y, €3IUIlb

KYIUTh KYIUTO, KYIUIIb

JeTéTh JIeuy, JEeTHIb

HOCHUTb HOIIY, HOCHUIIE

XOIUTh XOXKY, XOIuIIb

4. Note the similar conjugation of these determinate verbs, and the differences in
their past tense forms:

BECTH - Be#Yy, BeNEllb, BENYT BéJ, Bend, sBend, Benu
Be3TH - Be3y, BE3Elb, BE3YT BE3, BE3N4, BE3NO, BE3NN
HECTH -Hecy, HecéT, HeCyT HEC, Hecnd, Heclld, HeCln

IUIBITH - IJIBIBY, IJIBIBENIL, IMJIBIBYT
IJIBLI, IJIBIJIA, TIJIBLIO, ILIBLIU

UATU - UNY, UREMb, UIYT mén, mmia, o, LN
5. Note that the verb créuts is conjugated in the present just like the verb crodrs,
except that the stress is on the stem, rather than on the ending:

Iror Benocunén créur 5000 pyGnéi.
This bike costs 5000 rubles.
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Moit Bemocunén cTodt y BXGHa B OuOIHOTEKY.
My bike is standing (over) by the entrance to the library.

6. The verb BecT is used in the expression BecT# ce64 (xopomd, mnnéxo, Kak
peb8HoK) - “to behave, “ where some qualifier such as xopomé or miéxo must be
used to describe the behavior as positive or negative. (This is unlike English,
where “to behave” alone describes good behavior, and must be specifically modi-
fied for any other meaning: “Our kids behaved like angels; their cousins behaved

very badly.”)

Yréaue u pmanaor

Huandr (ua ynune népen OuGIMOTEKONM)
Jioca: Kéna, xymd Tl upéms?
Kéna: A uny noméit. f sanumdnca B 6ubnuoréke mith yacdB, U A4 YCTA.
Jhoca: Tl xduems maTH memkom?
Kéna: J1a, nasépuoe. Mosd Mmamiina B oOLIEKATUM.
Joca: A g ma mamime. Jlasdit 1 TeOd oTBE3Y.

Kéna: Xopowd, cnacr6o. f we Guenp xorén uarv mewmxdm. [lputédm cxépo moiinér
IO Ib.

Jlioca: Xopomd! Tloéxanu!

népen in front of
naBai how about...



232 e Chapter Six

yCcTan tired
OTBE3TH to get someone somewhere
HaBépHOE probably, I suppose
OpuUTéM besides (conjunction)
AOPOMHBIE IHAKHK Cspun u3 8 nnaxavos. Maaxar 1

NPEQYNPEXDAIOUWAE 3HAKWA

N A XZPH

131 4.1 142 143
0, yTwan 1.32 Npubnumenne
rwpuu nepeau Wenenan Mworonyrxan
€0 wnarBaymom Ge3 wnarBayma Aopora Xeneanan gopora
144 145 146 18 16 1.7 18
K MENEINCAOPOKNOMY NEPEEIay nepcweﬁue ﬂepe*ewenue Mepecevenne Caerodoproe
z X € KPYroseim perynuposaxue
nuHKen ABWIKEHHEM
.10 1.11.2 1121 1.12.2
Pumuou Boiean Onacmm noBOPOT Onacubie NOBOPOTHI

MOCT Ha nabepexwyio

Yréame: Ob6mécrsennslit Tpducnopr B Poccum

fl xouy Bdm pacckasdrs 00 obmécrTBenHomM TpdHcmopTe B Pocciuu.
Mémer OriTh BdM yKé M3BECTHO, YTO He BCE pYCCKUE NIOIU MMEIOT MAUIAHY.
Mlo5ToMy OHE G6ueHb YACTO TMONB3YIOTCA OOMECTBEHHBLIM TPAHCIOPTOM. ECTbh
yeTsipe BUjga TpdHcmopra: MeTrpd, aBTéOyc, Tponnaéiibyc, TpamBdii. B
6oabmoémM répoxe mMeTrpd OueHb xopdimee, a B MAJeHbKOM rdpoje, HALO
n6nb30BaThCA NPYTr¥M BHIoOM Tpadmcmopra. Y kdxaoro asBrtébyca,
Tpoanéitbyca u TpamBds écth HOMep u wmapmpyrt. MHormd rtpdHcmopT
naéxo XOIMT W NOYTH Bcergd Muéro mapdma B tpdmcmopre. [Korzd wmuéro
Hap6éia B TpaHcmopTe, 3T0 HasmBderca “ndska”.] OueHs BAKHO MITH X
1Bépu n6 Badmeidl OCTAaHOBKU ¥ CHpPAmMUBATL y YenoBEéKa, KOTOPBIA CTOUT
népen Bimu: <<Bri Brixénure?>> Torpd y Bac ecTh WmaHC BBIATH Ha CBOEH
ocTaHOBKE.
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061 éCTBEHHBI I public

MOXKET ObITh maybe, perhaps

UMETH to own 9
n61530BaThCA to use .
BUJL type -
HATO0 have to, must §
apyréit other, another &
MEL}?HIPYT , route, itinerary >
MHOro Hapoéna a lot of people . 3 § E
10 (+ gen.) before, up to, until S EE
KOTOPBIi who, which, that e
BBIXOXATH/BBIATY to exit, get out 9 8

Unprefixed Verbs of Motion:
Determinate and Indeterminate Imperfective

(Alternative terms for “indeterminate/determinate” are “multidirectional /unidirec-
tional” and “nondirectional/directional.”)

In Chapter Four you learned how to use the verb xon#ts, and a little bit about verbs
of motion. That is, you learned that XomiTs is an imperfective verb that means “to go” in
the sense of “to walk” and “to make a round trip,” and that to express a destination with
this verb you must put the destination in the accusative case:

Buepd Béuepom s xomina Ha mékumio. Lastnight I went to a lecture.
Now it’s time to see more of the picture.

In Russian there is a rather limited group of verbs designating certain types of
motion (going, coming, swimming, flying, carrying, and others) which are referred to as
“verbs of motion” (rmarémsl ABmKEHMA) In a very special sense. When they are not pre-
fixed, these verbs are imperfective and fall into two groups: indeterminate and determi-
nate. (When they are prefixed, they can be either imperfective or perfective; but you will
learn more about this in Chapter Ten.) In other words, each unprefixed verb of motion
has two imperfective forms: an indeterminate and a determinate. So , for example, the
verb I'VJIAITD is technically not a verb of motion: it cannot be used with B/HA + the
accusative case, only with B/HA + the locative case (e.g. Mbl ryndnu B ndpke but Mer
Xominu B mapk); and it doesn’t have indeterminate and determinate forms.

Xomnts is an imperfective indeterminate verb of motion. Its determinate “partner”
is unTi. Both of these verbs can be translated into English as “to go,” but Russian verbs
of motion are very specific about spatial and temporal limitations.

The indeterminate form (xomxiTs):

a) In past tense forms the indeterminate is often used to indicate a round trip ( eg. if
you went to the movies last night, you probably came home again. It’s highly
unlikely that you spent the night at the theatre. )

Buepd mbl xominu B kuHG. Yesterday we went to the movies.
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b) In the present and future tenses indeterminate verbs denote repetitive action,
including the general performance of that action (being able to walk or crawl or to
swim or run fast):

A1 xomy memxdém B yHmBepcutér. Iwalk to the university (in general - not
ride).

Jléma xémur B OuOmMoTéry Kamnbplit neHb. Lyozha goes to the library every
day.

Hému néru xépar B 3ty mxéay. Our children go to this school (i.e., attend).

Héuka ymé x6nur. My little girl is already walking (knows how to walk).

Moit orén éuenn Osictpo x6auT. My father walks very fast.

The determinate form (unri):

a) The determinate form is used with -ING forms in English; the reference, though
imperfective, is frozen in time and space (cf. “Where are you going/ where were
you going/ I was on my way to somewhere”). The action is seen in progress.

Hynd tb1 unéms? Where are you going?
Bor upér mam npenonasdrens. There goes our teacher.
Mer man ma néury, xorgd yeipenu Cunssécrpa Cranndna. We were walk-

ing (going) to the post office when we saw Sylvester
Stallone.

b) In the past and future tenses, the determinate verb used alone conveys an impres-
sion of incompleteness: (Or mén no yauue - He was walking down the street....
fl 6yny unrii B Tedrp — I will be on my way to the theater.) Therefore, it is most
likely that you are going to have two clauses in a sentence with a determinate
verb in the past or future:

Hornd mbl mnu B yHMBEPCUTET, MBI KyNIIM raséry. As we were going (on
our way) to the university, we bought a
newspaper.

This is true unless, of course, you are responding directly to a question and the
“completing” information is understood by both speakers:

Korgd ser kymiian raséry? — Korad mer miam B yHuBepcuTér. When did
you buy the newspaper? —On our way to the
university.

¢) The determinate form (MUOTH) is used in figurative expressions.
Npér nomnv/crer. It's raining/snowing.

Héepiit dunem upér B mdmewm kuHOTedTpe. A new film is showing at our
movie theater.

Hax unyr nend? How are things going?
Jra wdanka emy unér. That hat suits him (looks good on him).
Bpémsa unér/neriit. Time is passing/flies.
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Note that xomits can never be used in the above expressions, regardless of repetitive-
ness:
B midne powap mén kdxaplii OeHs. It rained every day in June.
Y mend gend Bcernd mndxo umyT. Nothing every goes right for me.
There is one instance, however, when the indeterminate form is possible:
Yacel unyt/xémar. The watch runs/is running/is working.

L A A A A

1.13 1.14 . 115 117

Kpyro# cnyck Kpyroa noawem Cxonsixan Hepoaun Bueibpoc rpasun
aopora . Aopora
1.18.1 1.18.3 1 21
Cvmme aoporn Alyctoponn« nmucxoguum
ABmenne nepexoca
122 1.25
Nepeceuenne ﬂopommu neperou ckovs  [fukwne nusotrsie [Mag urep
€ BEnOCHNEAHON pabovs:
AOPOMKOA
—) 22>
L REEa
28 2o 50 s < > D>
HuikonetAwme Tonwnens Npouue
CaMONETh! DMIACHOCTH Hanpaanenne nosopoTa

A Note on Distinguishing Indeterminate Forms from Determinate Forms. When you
see them, it is easy to distinguish between indeterminate and determinate verbs. The
indeterminate verbs of motion conjugate regularly with no exceptions and involve the
verbal classes -I- and -AJ-. However, the determinate verbs of motion are exceptional in
many cases; otherwise, they are nonsuffixed verbal forms. Compare the following:

INDETERMINATE DETERMINATE

XOMATH (i) uiTh (irregular) go, come
é31uTh (i) éxarp (irregular) go, come
(by vehicle), drive
netdTh (aj) netéts (e) fly
6érats (aj) Oexdrs (irregular) run, jog
mI4sath (aj) misiTh (V) [like xuTh] swim

Hocuth (i) HeCT (s/z) carry



236 * Chapter Six

BOIUTEL (i) BecTi (t/d) lead
BO3UTDH (i) Be3TH (s/z) transport, drive

Conjugations of these verbs are in the Notes on Vocabulary.

Read the following sentences carefully and complete them with the appropriate
indeterminate or determinate verb:

1. Msr gdcro (x6mum/uném) B Tedrp.

2. I Bcrpérun [met] eré Buepd Ha yaumue; o (xomdn/mén) B GaHK.

3. Mnr (x6pum/uném) B r6CTU KAKIYIO NATHULY.

4. Mb (x6aum/uném) B récté cerdiHs BEYEPOM.

5. Opd (x6nut/vnér) B OUOIMOTEKY NOYTH K&KIBINA IEHB.

6. Ileperos6psi [negotiations] (xominu/mun) MémTEHHO.

7. B 3rom xumoredrpe BCermgd (xOmAT/MayT) Xopowiue (AILMBL

8. Tlpémnoit 3uméii cuer (xOmin/meén) KAKIBINA XeHb.

9. Ceitydc B ynupepcurére (XOmAT/UAYT) SK3AMEHbI.

10. Own Bcernd (x6aut/unér) éuens GHICTPO.

11. Kak y 1e64 (xémar/unyr) nend?

12. Kynd T ceitvdc (x6pmmp/unéms)? - fA (xomy/uny) moméit oGénars.

13. Yrpom, xormd s (xomima/mma) B mkémy, A morepsna [lost] mare py6néit.
14. Mur (é3punu/éxanu) x MOpio [to the sea] mpouisiM JETOM.

15. Mo wacst muéxo (x6par/unyr). Hino ux moumnits. [My watch is not keeping

good time. I need to have it fixed.]

16. Kyznd By (xomure/unére) Vpdn Ilerpésuu? - A (xomy/uny) ma
paoory.

17. Pénbme mpl (é3nqunu/éxanu) B Copérckuii Cowos xdmmpiii rox. Tenéps Mbl
(é3mum/énem) TONBKO pas B MATH JeT.

18. AstdOycul 3mechy me (x6mar/uayt). [The buses don’t run around here.]

19. Bor (x6mut/muér) asrébyc! [Here comes the bus!]

20. 3dpTpa a (é3xy/ény) B Yuxdro.

21. Kymd to1 (x6mmms/muoéms)? - I (xoxy/uay) sa Kpdcayio niadmans.

22. Cwmorprte! Kro 310 Tam (6éraer/Gemiir)? Ito mam npenopxasitens! On
(Géraer/Gemiit) Kdmmz0€ YTPO.

23. HKax (nerder/nerit) Bpémsal Ywe auBips!



Chapter Six e 237

V@ © N

Ycrynute [Asuxenue {IpeumyuiecTeo Mpenmyuiectso
Aopory 6e3 OCTaHOBKA BCTPEYHOr O nepes BCTPEYHsIM
3anpeueHo ABVOREHUR ABVKERNEM

Note the verbs of motion in the following poem:
On wmue ckazdm: “B kun6? Wnér!” He said to me - “The movies? Okay!”
On me cmpocitn: “A uyro unér?” He didn’t ask - “What's playing?”
Moun, a1o k nény me uaér. Well, that doesn’t have anything to do with it.
Haid 6unér - u o unér.Igive him a ticket - and there he goes.
/Ax, xax xoctiom emy upnér!/Boy, that suit sure does suit him!
Boanr mdma yauna upér. Our street runs off into the distance.
Tpamdit mo yauune unér. A tramis going along the street.
1 moxnap Ha ynuue uaér. And it’s raining on the street [outside].
A on nemx6m ce6é unér. And there he goes on foot.
Ynépro x néam on unér. Relentlessly he is going for his goal.

Nnér! - o Tom u peun uaér.. He's going! - and that’s what we’re talking
about...

Find the humor: 1 uny no kospy; ThH WIENIL NOKA
Bpé1b.
(voBép -rug;mokd -while;Bpare -to lie;
[spy, Bp&ms, BPYT])

Perfective Verbs of Motion with the Prefix
[10-

So far we have discussed only verbs of motion that
are imperfective and that have no prefix. In Chapter
Ten you will learn about some of the many prefixes
that can be added to verbs of motion to modify their
meaning. For now, you need only to know two impor-
tant things regarding perfective verbs of motion and
prefixes:

1) it is possible to make a verb of motion perfective
by adding a prefix to its determinate form; and

2) the prefix mo- can therefore be attached to a determinate verb to “perfectivize,”
but not otherwise change the meaning of, a verb of motion.
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The use of a perfective verb of motion with the prefix mo-, in contrast to its imperfec-
tive, non-prefixed forms, corresponds exactly to the use of the perfective in all the verbs
you have already learned. That is, it can only express the past or the future, it signals the
onset of an action (to set out), and, when used in the past tense, it tells us that the result
has not been annulled at the time of speaking. Consider the following examples:

Past tense

@énop JIMATPUEBNY TOCMOTPEN HA YaCkl, NMOUEIOBAN KeHY, OTBEN ChiHA B
nérckuil cax u mobemdn Ha pabdry.
Fyodor Dmitrievich looked at his watch, kissed his wife,
took his son to kindergarten and ran off to work.

Korgd wmpl mum B 300mdpK, MOMIEN HOMIb.
As we were going to the zoo, it started to rain.

I'ne 31na? —Ond nomnd B 6ubnmoréxy.
Where’s Zina? She went to the library (and is not back yet).

[Contrast this sentence to the following, using xoa#Th:]

['me 3ina? Ond nomnd B 6ubmuoréky? — Ond xomnna B
oubnuoréxy, HO ceifudc ond y cebd B kémuare. Where's
Zina? Did she go (Has she gone) to the library? —Yes, she
went to the library [made a round trip] and (but) now she’s
in her room.

You see, then, what the past tense of nojitu or noéxats can express literally. But it is
also used figuratively in such expressions as the following:
Hy, ndmzmo. A mowén.
Well, I'm out of here. (I'm gone.)
[Tomén 1e1 kX u€pTy!
Go to hell! (Notice that the word order must be inverted.)
[Jommi! Let’s go!
[Toéxanu! Let’s go! (obviously, by vehicle); Here we go again! (sarcastically)

Future tense

When using a verb of motion to refer to an event in the future, Russian speakers usu-
ally use the imperfective (present) determinate form. When they wish to call special
attention to the event and stress that it will take place they will use the perfective (future)
form. (This corresponds to English usage: contrast “Are you going to the beach this
weekend?” to “Will you go to the beach with us this weekend?”)

34BTpa A MIYy K Bpauy.
Tomorrow I'm going to the doctor.

Jlérom Mbl é1em B IJCTGHUIO.
We're going to Estonia in the summer.
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Tot moiinéms B kuHG cerduus Béuepom?
Are you (in fact) going to the movies tonight? (“Will you be
going to the movies?”— not in the sense of process, but in
the sense of “Do you really plan to go?”)

But in sentences where other verbs are dependent on the presence of a future form,
the future form must be used:
Korgd on mpouutder crarhid, oH HOMEET HOMOii.
When he’s finished reading the article he’ll go home.

Ecin xéuems, 1 moitny ¢ To06i K amgBOKATY.
If you want, I'll go to the lawyer’s with you.

The perfective with mo- is also used with infinitive forms:

fl xouy moéxare B Ilapisk B mexaOpé.
I want to go to Paris in December.

Pomyitenu peuninu moéxars Bo Duopuny nérom.
My parents decided to go to Florida in the summer.

Different Types of Motion: XOJUTb/MATH Versus E3TUTH/EXATh

You already know that both xoats/unrii and é31uTs/éxaTs mean “to go,” but that
the verbs é3nurs/éxats refer to “going by vehicle”. Beginning students of Russian under-
standably often wonder just how specific they must be whenever they refer to “going,”
i.e., must they always specify whether the “going” was or will be done by vehicle? The
answer is NO. The “vehicle” forms é3nurs/éxath need be used only when it would
appear very odd (unlikely) that the going would be by foot, namely, when the distance
covered is either far or unwalkable. Thus you would normally use xondTs/untt when
referring to travelling within a single town or city (even if it’s Los Angeles!), but
é31uTh/éxaTh to leave the area.

Buepd Béyepom Bce CTYIEHTHI HAIIEro Kjdcca XOmiu K npodéccopy Ha
VIKUH.
Last night all the students in our class went to the profes-
sor’s for dinner.

Dpagnyssl 94cT0 é31aT B AHrimo.
French people often go to England.

['ne Anéma? — Ou momén B yHUBEDPMAr.
Where’s Alyosha? —He went to the store. [Unimportant
whether he walked or took the car/bus/metro.]

ne Anexcdunpa @uminmosna? —Ona moéxana B Urdnumo.
Where’s Alexandra Filippovna? —She’s gone to Italy.

Ha uém BBl é3mure Ha paboTy?
— How do you get to work (what form of transportation do
you take)?

A xomy memxdém. — I walk.
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BANPEWLAIOWME 3HAKWK
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Transitive Verbs of Motion

Most verbs of motion in Russian are intransitive, that is, they cannot possibly take a
direct object. It is easy for most English speakers to understand this when they consider
the English “to go;” you cannot perform the act of going on or to someone. But it must be
remembered that in English the same verb might be used to denote both intransitive and
transitive action (“to fly”— in general, vs. “to fly” an airplane; “to run”—in general, vs.
“to run” a race). This is NOT the case in Russian. A verb of motion in Russian is either
intransitive or transitive; it cannot be both.

In this chapter you should learn the following three sets of transitive verbs of
motion: HOCUTL-HECTH; BOLWTL-BeCTH; and BO3HTE-Be3TH. Everything that has
been said about verbs of motion in this chapter (determinate vs. indeterminate; imperfec-
tive vs. perfective with mo-, etc.) is just as relevant for transitive verbs of motion as it is
for the intransitives. The student should keep in mind the difference in the types of
motion between these three verb pairs. Two of these verb pairs refer to motion by foot,
while only the third refers to motion by vehicle.
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By Foot
HOCHTBh-HECTH - to carry/take (in one’s arms, hands, in a pocket, purse,
etc.)
BOOHTL-BECTH -~ tolead, direct, conduct, take

By Vehicle

BO3WTH-BE3TH - to take, transport; anything not covered by
HOCHTH/HeCTH orBOIUTH/BeCTH

The important difference between HocHTh-HecT and BOgWTh-BeCcTH is that in
the first, the “object” is being carried, and is not walking it/him /herself. Unless it’s a
portable animal (kémka) or person (pe6€HOK), it is usually inanimate. The object of
BOINTH-BeCTH, on the other hand, is physically separate from the subject. In most cases
this “direct object” is also walking ( but it is possible that it is riding, for instance, in a
baby stroller). At any rate, the direct object of BogJiTe-BecT# is being led, conducted,
guided, accompanied, or “taken”somewhere by the subject, who is definitely walking.

Kyad tor nnéms? — f mecy 3t kuuru B 6ubnuoréry. Where are you
going? —I'm taking these books to the library. (carrying on
person)

Kynd ond mu upgér, oud mécut C co06# 36HTHK. No matter where she
goes, she always has her umbrella.

Cerénua a Beny noub B My3éil.I'm taking my daughter to the museum
today.

Buepd Béuepom Opar BoaMJa Hac ¢ moapyroi B kKuHO. Lastnightmy
brother took my friend and me to the movies.

But when the subject goes by vehicle and “takes” or “transports” or in any way
moves with it something or someone else, the verb pair Bo31iTs/Be3T# must be used:
3dsTpa nénymka Be3ér neréit na pduy. Tomorrow Grandpa's taking
the kids to the dacha (summer house). (in the country; by
vehicle)

STOT TaKCHCT BO3UT NMACCAKNPOB TOIbKO 3a BanwrTy. That taxi driver
only drives (takes) passengers with/for hard currency.

AOPOMMBIE IHAKHK Cepwn u3 8 anaxavon. fnaxsy 3
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Kosey QO6ron rpysossim Koneu Orpaxnsenve Komey Nopava
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obroxa 3anpewen 06romHa rpy3ossim CKOPOCTH MAKCHMANBHOR 3anpeugena

aaTomebunrmM CKOpoCcTH
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Driving or Riding?

Translating the English verb “to drive” into Russian often leads to confusion because
in English this same verb is used to convey different meanings. That is, it can be both a
transitive verb (to drive a car) and an intransitive verb (to drive/ride somewhere; to go
[by vehicle]; take a trip). Russian is more specific : when you wish to focus on the act of
driving a vehicle, you will need to use the transitive verb pair soniTn/secti (+
accusative - Bectit Maminy). Unless you wish to call attention to that act of driving, you
will ordinarily need to use the intransitive verb group é31uTs/éxaTh/moéxath to express
going by vehicle. In this last instance, the subject of the sentence may or may not be dri-
ving the vehicle; the point of the sentence is simply that the subject goes by vehicle.

ENGLISH RUSSIAN
to drive a car BOIMTH/BECTH MAUIAHY
We drove/rode to town Ms1 ézmunu B répon.

Are we driving or walking? ~ Msl Ha MaiuliHe MM NEMIKOM?

Thus Russian does not necessarily distinguish between the concepts of “driving”
and “riding”. The only situation where Russian distinguishes these two verbs is when
particular attention is being drawn to Who drove the car? Otherwise, driving and riding
can be translated by the verbal pair é31uTh/éXaTh.

Choose the appropriate verb form:

1. Tsl xéuems(BOIATH/BECTH; 631MUTh/€XaTh/IOEXATh) MAIIAHY?
2. 1 (sowxy/Beny) maminy yme H6CATH JIET.

3. Mg (é3mmnu/éxanu) B Hésropon wma HéBeiil rom.

4

Buepd xorgd bl (é3quin/éxanu) Ha nday, koiecO omyctinock [we had a flat
tire on our way to the dacha.]

ut

Hina, xynd thl (é3numb/énems)? - f (éamy/ény) B Bamuertés Ha 1sa IHA.
6. fl (é3nmna/éxana) B yHMBEpCUTET Ha Tpamsie, a IomOi a (é3nmna/éxana) Ha

TpoJLTéiibyce.

NPEANUCHIBAIOWME 3HAKW
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Chapter Six © 243

Modes of Transportation
To say “by bus,” “by car,” “by plane,” etc., use Ha + locative:

Kak Tbl 0OluHO é3pump Ha pab6érty? Ha mamnime? — Her, ua
aBT60yce. How do you usually go to work? By car? —No,
by bus.

Mer He nervim B Bamuartés na camonére, a éneM Ha ndesne. We're going
to Washington not by plane, but by train.
Note, however, that if you do wish to express location inside or on top of a vehicle,
you can still use B/ua + locative:

Typiictsl rpémro pasrosipusanu B aBTGOyce. The tourists talked loudly in
the bus.

['ne mod terpdns? — Oit! Ona 6bind Ha Mamige...! Where’s my notebook?
—Oh, no! It was on top of the car....!

Prepositional and Case Government with Verbs of Motion

Different prepositions and cases are used to express where, from where (“whence”)
and to where (“whither”). You already know that to express “in” or “at” many nouns
take the preposition B and others take Ha. You also know that when you answer the
question ['1e? with these nouns you use the locative case, and when you answer the
question Hynd? you use the accusative. Note that when answering the question oTkyna?
(from where?), the nouns that otherwise take B take u3 + genitive and the nouns that oth-
erwise take Ha take c+ genitive.
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Msr wuBém B Hriese.
Mr1 énem B Kiies.
Mrr énem u3 Kriesa.

Bépa ceituac wa pabére.
Bépa unér ma paGory.
Bépa upér ¢ paborsl
Antén pabdraer Ha 3aBdgue.
AuTés upér Ha 3aBOL.
Aurén upér c zaBdna.

Take careful note of the prepositions and cases that are used when we speak of loca-
tion at or motion to or from a person. Thus y + gen of the person (Bukrop) means “At
Victor’s” (y Biixropa); k + dat of the person (Buktop) means “to Victor’s” (x Brikropy),
and ot + gen of the person (Buxtop) means “from Victor’s” (ot Brikropa). More exam-
ples are:

il 6b1n1d y Opdra. I'was at my brother’s.

Al uny x 6pdry. I'm going to my brother’s.

fl ény or Gpdra. I'm going from my brother’s.

Céna Op11d y 640ymku. Sonya was at (her) grandmother’s.

Céns vdcro é3mur k O46ymke. Sonya often goes to her grandmother’s.

Céua unér or 640ymkm noméi. From her grandmother’s Sonya is going home.

Cf. French: chez + person; German: bei + person = at someone’s place.
This principle is also relevant to adverbial expressions of location and destination. In

the chart below you see how adverbial words like “n6éma,” “3mecy”, “ram” are affected by
verbs of motion.

rae? Kyna? oTKYyja?

where? to where? from where?

B + loc. B + acc. U3 + gen.

Ha + loc. Ha + acc. C + gen.

y + gen. K + dat. OT + gen.

noma TOMOTA 3 momy*
[cf. B nome B IOM u3 aomal

31eCh ciond oTCiona

TaMm Tynd oTTYIA

B T'OCTAX B rdctu U3 rocTéii

*(The form 13 néma is more common in Contemportary Standard Russian than the
more archaic #3 1omy)

The last entries, “ B rocrdx, B récru”, are used in reference to visiting people:I'ne
Bl Opliu Buepd BéuepoM? — Mpul GrinM B roctdx y 3Hak6moro mo pabdre. Where
were you last night? — We were visiting an acquaintance from work.

Uro Ber génanu snérom? —Mpl é3qunu B récTu K MOEi cecTpé.
What did you do in the summer? —We went to visit (visited) my sister.
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Note that the verbs mocemdars/nocetiith can be used with animate or inanimate
objects, but the usage with animate objects is more goal-oriented than merely “going to
see someone.”

CrynéaTsl moceTau mas3onéit JIénuna.
The students visited Lenin’s mausoleum.

f moGmid nocemdrs Gonpinde ropoid.
I like visiting big cities.
Msr énem B MockBy, uTGObI MOCETHTH CTAPBIX IPY3EiL.
We're going to Moscow to visit old friends.
fl xonina B GonpHALY mocemdrs (HOCeTHTs) HAmero OonpHOrO cocena.
I went to the hospital to visit our sick neighbor.
But:

Y nac B rocrix Oslnm Opy3ed u3 ApX4HTeTbCHa.
We had friends from Arkhangelsk visiting. Friends from

Arkhangelsk were visiting us.

Note that if you are going to (or from) a person’s and also state the location, both
person and location must be expressed as “whither” or “whence”:

Tamdpa ceitudc y 046ymru B Mitncke.
Tamara is now at her grandmother’s in Minsk.

Tamdpa éner x 646ymre B Mitnck (acc!).
Tamara is going to her grandmother’s in Minsk.

Tamdpa monyurina nuceMé or 640ymku u3 MrsCKa.
Tamara got a letter from her grandmother in Minsk. (Her

grandmother —not Tamara—lives in Minsk .)
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Ynpamuénus

I. Verb conjugation practice. Referring to the verb conjugations, answer the following
questions 1a or Her, making sure you understand the sentences. Change the person and
other forms as necessary. Put parentheses around the words in your answer that are
optional and probably would not be repeated in conversation, as shown.

O 0N O U W N

ek
_— D

12.
13.
14.
15.

MODEL: Tel x6mume B mMKGTY?
—Her, [4] ne xomy [B mKémyl.

Tol é3nump Ha MeTPG?

Te1 wécums Ha 3aHATUA KEUTU?
Brr Bénure mammny?

Brr énere ma cragméu?

On upér ma néury?

Brr moiinére B xung?

Brur nndsaere B mope?

Tor nervws B JIGHmOH?

Tst xopomé Benémn cebs?
Mur nasiséM ma Kyoy?

Tsl BO3uIL cecTpY B mKGMY?
Tl unéms wHa 1éKUMIO?

Ourt ugyT Ha KOHUEPT?

Tst Bcernd Gemiimb Ha YpOK?
Tor é3qums 8 Heto-Mopx?

II. Refer to the information on how to use prepositions with destinations, locations and
places left behind... Answer the questions ner, replacing the preposition for destination
(or place left behind) with its opposite. Change the person as necessary (as in Ex. I
above) and enclose optional words in parentheses.

B N

© 0 O Ut

10.

MODEL: Ter unéms goméin? —Her, [4] uny u3 gdéma.
Ounvt naeByT u3 ATI4HTBI?

Tor nervims B [lapiik?

On éner na BOK34N?

Oun# unyr tynd?

To1 ugéms B récru?

Tei émems x boprcy?

Brr Benére nmous Ha KOHUEDPT?

Brr Gewiite oT Mdrepu?

Ond Be3ér cpiHa K Bpauy?

Msr masiBém u3 Canxt-IlerepOypra?
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WHPOPMAUMOHHO-YKASATE/IbHBIE 3HAKW
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ITI. Choose the necessary determinate or indeterminate verb and put it in its proper form
in the sentence, making sure that the tense makes sense in the given context.

MODEL: B npdémaom rony = (nndBaTh/mNABITE)
KAWOBIA DeHb.
—nnédsan(a)
1. Buepd Ovino xémoxuo u (XOXWTH/UATH) HOXKIB.
2. fl ysiimena erd, xorjgd ou (xoo¥TH/MATH) HOMSHT u3
MEKOILL.
3. 34BTpa, KOrgd THI (é3nuTh/éXaTh) B YHUBEDPCUTET,

Thl YBAAMIIbL HOBBIM MaraswH.

4. Hormd mer 6ynem wuth B Kiiese, Mbl

(nndBaTh/ONBITH) KdKIOE YTPpO.

5. B mpémaom romy moit mymx dYicTo

(nerdrs/nérers) B Onmécey.

6. Buepd B roctdx wdma néuxa dyeHs miadxo

(BomuTs/BécTU) CE6A.

7. Tel Bagums 370T Gonpmidi camonér? Oxn

(netdrn/nérers) B Marapgdn.

8. Uépes nBa mécana TBOU NéTu OUeHBL XOpowod

(é3nuTh/éxaTp) Ha Bemocunéne.

fl cnewa (was in a hurry). (é30uTh/6XaTh) B KUHOG.

10. Korpd s ysugena TBOerdé Gpira, oH

(BO3WTH/BE3TH) MUHHCTPA HA CTAHIHUIO.
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11.

12.

13.

14.
15.

IV. a.

Eciu cmopreménsl 6Y1yT muTh MoIoké (milk), o

(Gératn/OesxdTn) GueHs GHICTPO.

Korpd ond wund 8 Auduuuy, oHd Huxornd ze (BoXHATH/BECTH)

Mamnuy; oHd (é3nuTn/éxaTh) Ha aBTéOyce Wiu Ha Merpo.

fl néaro cwmotpéna B HéGO (into the sky); rycu (geese)

(nerdrs/neTéTs) HAa IOT HA 3UMY.

Hend @iipmbl (xom#TH/MATH) GUeHB IIGXO.
[Touemy Buepd om (6érars/6exdTs) nOMOH Tak
oricTpO?

Choose the proper verb from the options and insert it into the sentence in the

necessary past tense form. Be able to explain your choice.

MODEL: Mp mosdsrpaxanu u (xORATE/ MATI/TIONTH)
Ha paboTy.
— TIOITIA

b. Be able to put the verbs into the future tense,making any other necessary
changes.

e mama? —Omnd (xomvits/unri/moiiti) k¥ Maprn
eédnorHe.
['ne mdma Obind Buepd? —Ond (XOOATH/MATH/TIOWTH) K

Mapriu Usinosxe.

f1 xoténa (xOonHTH/MATH/NOATA) Ha CTaguléH B LIECTL Yacos,

HO B IATh 4acsB (XOOATHL/MATH/IOUTH) CHEr, U A He
(xOmATH/MATH/TIOKTH).

B npdémiaom roxy sl (XOMATH/MATH/IOWTHA) B MapK

KAKIBIA JEHb.

Buepd ndma (é3nuTh/éxath/m0éXaTh) B AQpUKY.

B nBa wacd mpr Ori B mée3ne; Mbl

(é3nuTn/éxats/noéxats) B Kpoim.

Korgd mul minu B Bupmxinum, Mbl BCerngd

(x0nATH/UATH/IIONTH) NMEMmMKOM.

[Tponasén mossonia oTuy BaamiMupa, moroBOpUI C HUM U NOTOM

(é3muTh/éxaTH/MO6XATH) NOMOIA.
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
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Camonérnl me (nerdrs/nerérn/monerérs), KOrgd meén

O Ib.

I'yce mocMoTpén Ha MAMY TYCHIHIO U

(nerdrn/nerérs/monerérs) Ha céBep.

Hornd a sctpérun erd Buepd, om

(é3muTh/éxaT/moéxaTh) DOMOH, a 1

(é3nuTh/éxaTh/mOéXaTH) Ha pPabOTYy.

On xymin senocunén u (é3nuTn/éxaTs/m0OéXATH) B
répor.
[enepdn xymiin 6uiaér u (nerdrs/neTérs/moneTéTs) B
Hiies.

B nexabpé npémoro réga Cdmra Kndyc

(ésmurs/éxats/moéxars) B JucHeindHn, a ceitydc oH xdMa Ha césepe.

Ber 6511 B Bapcendue? —]Jla, s (é3nuTr/éxaTh/m0OéXATH)

TYI4 B OpOINJIOM TOXY.

I'me nénymxa? —On B Can-@panuricko. On

(é3nmTn/éxaTh/m0éxaTs) TYOA B CyOOOTY.

B B6cems uwacés 640ymika (so3niTe/BesTii/mosestr) Camy

B IWKGIY, a mMoTéM OHA (é3nuth/éxaTs/moéxath) B récTu

K 3HaxkOMoii.

Moit npusrens (ésnuTn/éxaTh/m0éxars) B [lapix B
npémiom rony. Cerénus séuepom oH Oymer y HAC B rocTdx u Oymer

pacckdspiBaTh 0 OpaHUKU.

Jlérom néru Bcernmd (XOMATH/MATIH/NOATA) B DAPK U

(BomuTh/BECTH/ mOBeCTH) TyI4 cobdky.

Pebénox Obln Guens Oonpmlif, HO erd mdma BCerma

(a6cuTh/HECTI/IIORECTI) erd HA pyK4X, KOrAd OHW (XONWTH/UATH/TOWTH) B Mar-

a31iH.

V. Answer the question Ck6i1pk0 cT6uT/CT64T? using the price given in parentheses and
the correct pronoun.

MODEL: Cxémpro créar dtu terpinu?
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[E—
—_ O

12.
13.
14.
15.
16.

O RN oUW N

Crxéapko
Cxdnpko
CxéabKo
Cxéapko
Cxéneko
Cxéipko
Crxéapko
Créapko
Cxénpko
Crdaero
Cxémpko
Cxéapro

($3.50)
(4p 32k)

cTéur 3ror cryn? ($25.40)

-Onft ctéar Tpu nénnapa HATHAECAT LEHTOB.
-Onit créar yersipe pyOud TpUmUATh IBE KOMEMKU.

créur 3ror xomomuabuuk? (30.000p)

ctéar 3tu namne? (600p. 20x.)

créar samwy xapampami? (40p. 13k.)

cTéut TearpaabHas mporpamma? (82k.)

créur ta mamuza? ($1000) (HINT: accusative case)
ctéar vdmu yuébruxu? ($15.95)

créun teoit wypuan? (10p. 10k.)

créunu 3tu Tenedors? ($72.30)

créun 1ot chosdps? ($4.05)

créunu Gunérel (tickets) ma tpamsdit 8 CCCP? (3x.)
oymer créure moxondn B Mocksé? (2300p.)

Cxénpko 6yayT créuth 6unérel Ha kouuépr? ($30)

Ckéapro Oymer créuts Hémep B rocrunune? (600p.)

Cxéapro 6ymer créurs mésas kmyra? (400p. 1x.)
Cxémbko créur 6unér us Mocksst B Heio-Mépr? (80.000p.)

VI. Read the explanations about cost. Learn the verb nmokyndrs/kynits. Answer the
questions using 3a + accusative and the price.

MODEL:

R N oy UL W N

3a
3a
3a
3a
3a
3a
3a
3a

CKOJIBKO
CKOJIBKO
CKOJBKO
CKOJIBKO
CKOJIBKO
CKOJIBKO
CKOJBKO
CKOJIBKO

3a ckOmbKO T Kynua kmary? (25p)
—f xymiin eé 3a mBdguars nATe pyONéit

Tl Kyniaa 3ror kapanpdm? (15k)

Tel Kymumb HOBeI yuéouux? (60p 20x)
I011apoB Thl Kymin TBOM HOBbIA nusdu? ($152)
pyonéit onvi kymar pyuxy? (150p)

THl TOKymdems 34BTpak B cTondsoit? ($5.22)
py6néit moxyndior nénnap B Mocksé? (1.140p.)
Tel Kynumb Terpins? ($4.15)

oH Kymut kBapTrpy? ($1500)
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VIIL Answer the questions about one round trip in the past, confirming that the subject
was at a place or visiting a person, using a form of the verb 65IT5b.

C PO XN W=

[a—

MODEL: Ter Buepd xomita B réctu k 64b6ymxe?
— Ha, Buepd a Obln B roctdx y G40ymku.

On é3nun B [lapix B npdémiaom mécane?

Tfna nerdn x mompyre B Apuxy?

Pa6déuue é3munu Ha 3aB6m B Manpun B nexabpé?
My3BsIkdHTE XOOWAYM K MUHUCTDPY B MHUHMCTEDPCTBO?
Mucdrenun nerdnu Ha koHdepénuuio B Huo-Uépx?
Hypranvictku xoguaum Ha néuTy Ha Npomaoil Heméne?
Monongds cnoprcménka mnadsana B JIGumon nérom?
Kpricropop Konym6 nndsan 8 AMépuky décennio?
Kocmouderer netrdnu sa nyay (to the moon)?

Tso#t mpusdrens é3nun Ha CcéBep K CecTpé?

VIIL Explain that you saw the people in Exercise VII coming back from their activities or
visits. Since you are seeing the people at one point in their travel, you will have to
change the “round trip” indeterminate verb into the determinate form.

MODEL: I ysrimen eré B mpémaom mécsaAne, kornd o éxan u3
[Tapiima.
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IX. Respond to the statements about someone’s trip, adding that the person took some-
one/something along.

MODEL: Buepd téTa xoamma B mapk. (moit Gpar) —/la, omd
Bonuaa Tyzd moero Opdira.
Hornd s svigen Maxciima, on mén B miday. (xkHura) —
Hda, o HEc KuAry.

Congdr xonvn Ha Kpdcuywo nadmans. (646ymxa)
Bonmiitens é3aun Ha Bok3da. (nmucdrenn)

Camonér nerén ua 3dman. (XyIOmHNEK)

Yuéuwiit wén B 6ubauoréry. (yuébuuK u TeTpinn)
Médma éxana B mkéay. (Bdus u Biuixa)

Crpovitens é31un HAa CTpPOWTENLCTBO. (pabdumii)
busnecmén wmén wa mpeanpusgrue. (CbiH)

XN

Yuurtend Gemdnn ma noéury. (nrcema)

©

@®épmepbl éxanu Ha DPHIHOK. (IPOAYKTHI)

10. Tenepdn nerén ma Yxparny. (xend)

11. Oréu mwén x spauy B GoapHALy. (CBHIH)

12. Hondtukm éxanu B aspondpr. (Aéubru)

13. Typuicter nerdnu ma Ky6y. (poroanmapdr)
14. Jdénymxka xomnuna B napk. (coBdxa)

15. Mo npusdrens és3gua 8 Kamdny. (mod TéT1)
16. Pabéume mau B kBapTipy. (H6BBHIE IMBAH)
17. Jéru xonwnu B marasuu. (mima)

18. Tsoit 3uakdémeiit xonina ma pabdry. (raséra)

X. Answer the following questions, showing how you get/got/will get there (1 a +
prepositional). Make sure you use the right tense in your answer.

MODEL: Hak 1o moémems B ATndury?
fl moneuy Tynmd ma camonére. (moémy Tymd ma mdesne)

Hak Tl é31M7 B yHUBEPCHUTET?

Kax TtBO¥t ndns éner ma BOCTOK?

Hax ouit éxanu B Canrr-Ilerep6ypr?

Kak néru ésamunu B xunotTedrp?

Kak ux snaxémpii moéner noméii?

Kak Te1 Oyoems €30UTh B YHUBEPCUTET?

KHax amepuxduuel é314aT Ha padoTy?

Kak pycckue é3mar nma pabGory?

Hax xutdiiner (Chinese people) éanat na paboTy?

© PN oUW
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XI. Fill in the blanks with a verb of motion, a vehicle, or a destination/location that
makes sense in the context.

Bopiic: Céneuxa, Thl 3mdems, moit Gpar Mrops moéxan B Kier Ha
npémnoi Hengéue.

Céma: On nerén Tygd Ha ?

Bopic: Her, on

Céra: Oun WeHy?

bopiic: Her, ond smecs. Ond me noobur , 1 OH& 37ech
Ha pabOTy KAMIBIA IeHb U zeréit B mkéay. Ond He xoTéna

8 Kies. Ho Vrops 3 Kites mimy.

Céun: Tsod mima pédupme Ha Yxpaunuy?

Bopiic: a, ond Obid B npémaom rony. Ond B
Xdporos u B Kies. Mod mdma Guenp a106ur nemrdM 1o
répony. Oud scernd doToannapdT (camera).

Céma: Trr 3ndems, bépa, nérom B Kitese nioxu (people) B peké
(in the river). TBod mdma ?

Bopiic: Her, ond He Hayuriacs , HO oH4 cmoprcménka. Kdmpoe

yTpOo oHA IBa KHUJIOMéTpa.

Cémn: Y 1ebd xoplmas mdma.

bopi#c: Cnacii6o. Ceréausa oHd mO3BOHMIA MHE U3 U ckaszdna,
yTO 34BTpa OHA B Tedrp. rops He , HO eé
crdpasa mojapyra Maprna eé Tynd. Oun B TE4Tp B
onMHHanuaTh yacos, mocmOTpaT neécy Uéxosa “Tpu cecTpr,” u
noTém B xopOmuii yKpaWHCKUN DECTOpAH.

Cénn: Korgd a Ownind B Kiiese, a1 B KoomepaTWBHOoe Kadé B uLEH-
Tpe répona. Mo#t yxpaiHCcKuU#i Ipyr mensd Tymd. Tawm

6sta0 xopomd, HO méporo. Buud créuno marecédr narbaecdAT pyOuaéi..

bopiic: Tl monoOumes Mo MiMy.
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XII. (a) Answer that you know the person went somewhere, because you saw him/her
on the way there. Use the proper form of the pronoun.

Ut W N

MODEL: Updn xomin B tedrp? —/Jla, on wén Tynd, korad a erd simen(a).

Méppa Ilerpésra xonnna B GOabHALY?

Hémupr é3nunm 8 Mocksy?

Yuurend nerdmu B JIGHm0H?

Bdmu npysed nndeanu B pewé?

TBo1t cécTpbl XOmMWIM B CHOPTHBHBINA 3277
(b) Using the perfective form with mo-, tell what time the people in the exercise
above probably left for that place.

MODEL: Hagpépro, on momeén Tygd B IATh YacOB TPUILATH
MHHYT.
He probably left for there at 5:30.

(c) A third person comments that s/he saw the person coming from that place.
MODEL: 1. A a ysunmen er6, xorgd o mén u3 TeiTpa.
And I saw him when he was coming from the theater.
(d) Comment that your listener will be able to see the person tomorrow, because
s/he will probably be setting off that way at that specific time tomorrow as well.

MODEL: 3dsTpa BBl cMOmeTe YBHIETh €ré B NATH JacOB
TPUALATH MUHYT; OH TOTJ4 MOAXET B TEATD.
Tomorrow you will be able to see him at 5:30; he’s going to be
on his way to the theater then.

(e) Be able to translate your answers.

XIIL (a) [lepesenvite Ha DYCCKuUii:

1.

-Hello Misha! Where are you going?
-I'm on my way home. What's new?

-Nothing much. I'm on my way to the library. But after that I'd like to go to the
movies. Do you want to go with me?

-Sure. Where do you want to meet?

-Can you come to my place? Then, we'll go to the movies, okay?
-Great! See you soon!

Buses don’t run on our street.

-What did you do yesterday?

-I went out to eat and watched TV all evening.

-Do you like to swim?
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~Yes, I swim every day.
5. -What is Petya carrying?
-Petya is carrying his new dog. Her name is Pl'ushka. She loves to run!
6. My parents took me to the doctor yesterday.
7. We went to Estonia for 2 days.

(b) Translate the following passage into Russian.

1. In the summer we went to New York by car. 2. My wife drove there, and I drove
(back) home. 3. When we were riding there (while we were on the way down), the chil-
dren read a book and I listened to the radio. 4. My wife doesn’t like to listen to the radio
in the car but she likes driving the car. 5. In New York we stayed (“lived”) at a hotel and
walked to a restaurant and a museum (My3€éit) every day. 6. The children do not like to
walk (on foot); they like to ride taxis and the metro. 7. On Saturday when we were walk-
ing to the park, we saw a musician on the street. 8. In the city, taxi drivers like to drive
fast. 9. Do you see the airplane? It’s flying south. 10. Americans drive a car to work, but
Russians usually take the metro. 11. Why did Sasha behave so badly yesterday? —He
was tired. 12. There’s a good movie showing in the Bryan Center tonight. Are you going?
13. Yes, and I'm taking my new girlfriend. 14. How are things going with your father?
15. I saw your German acquaintance yesterday; he was running to the store. 16. Is your
grandfather home? 17. No, he went to the post office. 18. Was his uncle at the restaurant?
19. No, he went to a movie. 20. Ivan Sergeevich swims very fast.

XIV. Active practice. You, a typical American youth, have just turned sixteen. Describe
how your life will change. Use verbs of motion in the past, present, and future. Use also
the following vocabulary:

driver’s license BoguTenbckye mpasd (always plural in Russian)
driver’s exam 9K3dMeH N0 BOXKIEHHUIO
traffic laws npdBuia OBUKEHUA

Reading Things in Russian

I. Look at the traffic signs placed throughout this chapter. Identify as many as you can.
Then do the following:

A. Find the Russian word for the following;

circular height
bridge width
slippery length
road minimal
uneven distance
tunnel danger

sign zone
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mechanical automobile
motorcycle maximum
tractor

B. What do these Russian words mean?

HeJIe3H0J0POKHBII pa3BopoT
nepeceuénue CKOPOCTh
noBOpOT 0CTaHOBKA
OTIACHBIH CTOSHKa

nepexon IBIDKEHVE
3anpemén KOHEI]

nemexon yCTynuTe mopory
OrpaHuvéHue

C. Memorize the well-known “3-D” rule:

Hait nypaxy mopdry!
Let the fool have the road!
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I Look at these ads from the Russian business newspaper “Komvepcant” and the
Moscow weekly “Mockésckue Hépoctu” and answer the questions:

Kakyio mamiiny Bbi 6ynere mokynars? Ilouemy? ['me Bol Gymere eé HOKYIATE?

CxoapKo oHA 6ymeT CTOUTBH?

BMW - 3TO KAYECTBO
HA BCIO 2KU3Hb

-
/

Ochrawanstnsi mnep BMW

dupma "ApTexc” npenarasT:
HOBLIE

BMW 3, 5, 7 n 8- cepwli co

cknana B

- obcnyxsaHAe;

- 3aKAGATH ATOMOGNS I0BOH

TEPY B VHOMBIYA/IHOR

KOMIVIEKTALAM;

B.aprExC

ABTOCANOH: r. Mocksa,
1 B Macnosa. 10
Ton: 200-66-17, 2033080

C YAOBONLCTBUEM 3A PY/IEM

BRIV S5 ESS I RSP Ml &S

BKCKIIO3HBHYIO KOJJIEKITHUIO

VOLVO

B CBOEM HOBOM RBTOCANOHE
BO Bcepoecnicxou Bricrasoumom [lenTpe

IIpencrasgrenscree «MYCA MOTOPC»
Tenedorsr 8 Mockse:
(095) 216-11-65, 216-11-66, 166-15-01

WETAGIIFL AARTIREE ll'n=

IIPEJJIATAET

@axc: (095) 181-71-07

550 duumanbrbil uMnNOpTATOP
dupun PEUGEOT

“LD internationa

o6baBnaeTr 06 OTKPbLITUWN ABTOCAMIOHA

yn. Bawunosckasa, a. 2.

Npepncrasnexs aBTOMOGHK NO LBHe
npouasomenﬂ C TaMOXEHHOR

Mcnema 405 BL GL 14 850
Mopent 405 BK GL 15 690
Mogens 605 S| 4 065
Mopenb J5 COMBl LUX 520 050

Liensl pelicTauTensHsl 4o 30.09.83

OBECNEYMBAIOTCA:
@ rapanTuitHos oficnyxusanve @
© NOCNENPOAAXHEIA CEPBHC ® PEMOHT ®

Ten. 8 Mockee: 131-47-88.

daxc: 133-91-33. NPOJAIOTCA:

@ 3anacHbie 4aCTi ® CMal04HbIe
MATepHaNs @ aKCeccyaps @

Dopma onnatel — nobas.
MmMeeTcst NyHKT 06MeHa BanioThi.

PEUGEOT

T
S
Q
o
o
8
|
T
2
<

Ilponacr HogsIe

“Wuryau", nroMapky.

Gopma onaarsl Awbas.
[ocraeka ueMepnenso
co ckaana B Mockse.
Tlpsnumaer 4 npopaer
noGbie KOMACCHOHHBIE
aBTOMOGUAR.
MpoussopuTcs
upeAnpoAaKHan
TNOATOTOBKa.

98400|) 9 ISHOPal8]

0S-p0-616 ‘L1-86-616 (560)
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III. Look at these charts from KommepcanT and explain as much as you can:

Mporio3a obmensioro kypca gonnapa

{pyG./1) (¥6./1)

Coap Bewsm A-76

511680

(py6./7)

wiser 27
o e

Mepp padunmponsnnas MOK

{py6./7)

Anomunuii A-7

55 000
(p¥6./7)

lVII.fH'ITEH KMHAN




